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int balance = 10;

while (balance >= 1) {
if (balance < 9) {

continue;
}
balance = balance - 9;
}
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import Jjava.util.Scanner;
public class Test {
public static void main (String[] args) {
Scanner input = new Scanner (System.in);
int number, max;

number = input.nextInt();
max = number;
while (number != 0) {

number = input.nextInt();

if (number > max)

max = number;

}
System.out.println("max is " + max);

System.out.println ("number " + number);

max is 5:0 g

number 0
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public static void main (String[] args) {
int a = 10;
int b = 20;
int[] ¢ = { 5, 10, 15, 20 };
foo(a,b,c);

public static void foo(int x, int y, int[] z) {
X += 5;
y *= 2;

for (int 1 = 0; 1 < z.length; i++){
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}
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import java.util.Scanner;

public class myClass{
public static void main(String[] args){

double[] a=new double[10];

double b,sum=0,ave=0;

Scanner s= new Scanner(System.in);

int countave=0,countupave=0,countdownave=0,count=0;

for(int i=0;i<10;i++){
b=s.nextDouble();
if(b<0)break;
a[i]=b;count++;sum+=a[i];

H/end of for
if(count==0){System.exit(0);}

ave=sum/count;

for(int i=0;i<count;i++){
if(a[i]==ave)countave++;
if(a[i]>ave)countupave++;
if(a[i]<ave)countdownave++;

}H/end of for

System.out.print("upave="+countupave+"\tdownave="+countdownave+"\tcounta
ve="+countave);
}/end of main method
Hlend of class
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import java.util.Scanner;




public class myClass{
public static void main(String[] args) {
Scanner in = new Scanner(System.in);
String s = in.nextLine();
int up=0, down=0, number=0;
for (int i = 0; i < s.length(); i++) {
if(s.charAt(i)>='0'&&s.charAt(i)<='9")

number++;
else if(s.charAt(i)>="A'&&s.charAt(i)<="Z")
up++;
else if(s.charAt(i)>="a'&&s.charAt(i)<=z")
down++;
}
System.out.printin(up+" "+down+" "+number);
}
}
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public static String binery(int n, String s) {
if(n==0)
return s;
return binery(n/2,(n%2)+s);
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public class Fan {

private boolean situation;
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private int speed,;

public Fan() {
situation=false;
speed=0;

public boolean CheckSituation() {
return situation;
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public void ChangeSpeed(int newSpeed) {
if (newSpeed < 0 || newSpeed > 2)System.exit(0);
speed = newSpeed,
}

public void ChangeSituation() {
if (situation)
situation = false;
else
situation = true;
}

public String toString() {
String s = "",z="",;

if (speed ==0)
s +="Low",
else if (speed == 1)
s += "Medium";
else if (speed == 2)

s += "High";
if(situation)z+="on";
else z+="off";

return” \tSituation : " + z+"\tspeed:"+s;
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public Fan(Fan newFan) {
this.situation=newFan.situation;
this.speed=newFan.speed;
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public class Equipment {

private Date date;
private Repair[] repair;
private String name;
private int cost;

public Equipment(Date date, Repair[] r, String name, int cost) {
if(date==null||r==null||name==null|jname==""||cost<=0)System.exit(0);
this.date = date;
repair = helper(r);
this.name = name;
this.cost = cost;
}
private Repair[] helper(Repair[] r{
Repair[] temp=new Repair[r.length];
for(int i=0;i<r.length;i++){
temp[i]=new Repair([i]);

return temp;
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public boolean equals(Equipment E){

if((date.equals(E.date))||!(name.equals(E.name))||cost!=cost||(repair.length!=E.re
pair.length))return false;
int n=0;
for(int i=0;i<repair.length;i++){
for(int j=0;j<E.repair.length;j++){
if((repair[i].equals(E.repair[j])))n=1;break;
}/end of for
if(n==0)return false;
n=0;
}/end of for
return true;
}/end of equals method
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}/end of main method
}/end of class




